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1 Jlguul
A man has weight of 1000 N, his mass in Kg is: (g =
10 m/s?
1000
100
0.1
10

@byl hay  alaa 1
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A cyclist of mass 30 kg exerts a force of 250 N to

move his cycle with acceleration of 4 m/sz, the force
of friction between road and tires will be

15N
120N
130N

150N

@byl har  alaa 1 3 Jiguul

A particle undergoes three consecutive displacements
B=(107-10j+6kcmand C=(107-10))cm
A=GET+5]+3%)cm,
the magnitude of the resultant displacement is

11.89cm
30.5cm

21.77cm

33.76cm

@byl hay  alaa 1 4 Jiguall

The polar coordinates of a point arer =1 m and
B = 30°. What are the Cartesian coordinates (x,y)
of this point

x=0.7m, y=15m
Xx=05m, y=05m
x=0.866m, y=0.5m

Xx=1m, y=0.866 m
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One drop of oil falls straight down onto the road
from the engine of a moving car every 5 s, as
shown in figure. What is the average speed of
the car over its motion

P S e S e e
AN IRE

| = !

24m/s

120m/s

100m/s

20m/s

byl han  alaga 1 6 Jlguull

The driver of a car slams on the brakes
when he sees a tree blocking the road.
The car slows uniformly with an

acceleration of 25.60 m/s? for 4.20 S,
making straight skid marks 62.4 m long,
all the way to the tree. With what speed
does the car then strike the tree.

-56.5 m/s

-107.5 m/s

107.5 m/s

56.5 m/s

daibylhay alas
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The temperature outside the university is a
vector quantity
dlgn
lha
byl hay ¢
alaya 1 8 Jlgudll

A vector lying in the xy plane has components of
opposite sign. The vector must lie in the first

quadrant
dlgn
lha
ahyl hay ¢
alaa 1 9 Jlguull
In some cases the distance equals to the
displacment
dlgn
lha
byl hay ¢
alaa 1 10 Jlguull

Force F acts on a body m = 8 Kg initially moving with
speed 5 m/s. The force exerts work (W =300 J) on
the body. What is the final speed
10m/s
100 m/s
60m/s

12m/s

alhyl har  alaga 11 Jiguall
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with the horizontal. Calculate the work done by the
force on the vacuum cleaner as the vacuum cleaner
is displaced 5.00 m to the right

100N

50/
250/
500

1250 )

Gyl han  alaga 1 12 Jiguatl

In case of a baseball of mass m is thrown upward
with some initial speed, the gravitational force is
exerted on the ball at all points in its motion except at
the highest point

dlgn

tha

Gyl han  alaga 1 13 Jiguatl

if a hockey puck slides on a perfectly
frictionless surface, it will eventually slow down

because of its inertia
dlgn
s
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The weight of anybody depends on the gravity
dlgn

s
abkyat 15 J1guall
if the acceleration is zero, this means that the

velocity is not constant

dlgn

abyat 16 Jlguall

The time interval can be positive or negative

value
dlgn
s
abkyat 17 Jlguull
Displacment is defined as the length of a path
followed by a particle
dlgn
lha
abkyat 18 Jlguall

Increasing the time you complete the work will
increase the power.

Jlgn
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At rest the kinetic energy is zero
dlgn (@
tha
Gyl han
all alaa 1 20 Jlguull

The work done by the constant force F through the
displacement Ar can be negative when F is
perpendicular to Ar

dlgn
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